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QID : 1 - Select the related word from the given alternatives.
Spring : Spiral :: Bangle : ?
few e famedl & @ Wefta wee &1 gFwl

& : TR :: qé’t 1 ?
Options:

1) Glass

BT

2) Circle

b

3) Ornament

TS
4) Gold
T

Correct Answer: Circle
oI

Candidate Answer: Circle
Era

QID : 2 - Select the related letters from the given alternatives.
WUV :TRS::QOP:?

3w MU fawedt & ¥ Tafia s1eri &Y g

WUV :TRS:: QOP:?

Options:

1) XYZ

2) CBA

3) ABZ

4) NLM
Correct Answer: NLM
Candidate Answer: NLM

QID : 3 - Select the related number from the given alternatives.

7.25:7.75::9:?

fow U fawedt & § Heifta S & gl
7.25:7.75::9:?

Options:

1) 9.5

2)7

3) 10

4)8.5
Correct Answer: 9.5
Candidate Answer: 9.5

QID : 4 - Select the odd word from the given alternatives.
fau e et 3 § faww wsg &) 9wl



Options:

1) Sparrow
2) Pigeon

:ai% G
row
3

4) Housefly
ot
Correct Answer: Housefly

Candidate Answer: Housefly

QID : 5 - Select the odd letters from the given alternatives.
fu e fawmedt & I faww srert &1 gful

Options:

1) RQS

2) XWV

3) MLN

4) FEG
Correct Answer: XWV
Candidate Answer: X\WV

QID : 6 - Select the odd number from the given alternatives.
few e fawedt & 9 fawy e & giul

Options:

1) 700

2) 250

3) 350

4) 640
Correct Answer: 640
Candidate Answer: 700

QID : 7 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.
Oxygen, Toil, Arouse, Arson, Tenuous, ?

T S fean man g, o v weg g 71 e e fawedt # ¥ 97 ue e e St srgen & g

Oxygen, Toil, Arouse, Arson, Tenuous, ?

Options:

1) Onion

2) Lustrous

3) Lion

4) Onto

Correct Answer: Lustrous

Candidate Answer: [ NOT ANSWERED ]

QID : 8 - A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
ZYX, VUT, QPO, MLK, HGF, ?

T 3T foam T B, o U Ue qw &1 ot Y fawed! § § a8 W) fawey g St ST ) g

ZYX, VUT, QPO, MLK, HGF, ?

Options:

1) DCB

2) CBA

3) BCD

4) EDC
Correct Answer: DCB
Candidate Answer: DCB



QID : 9 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
400, -200, 100, ?, 25, -12.5
T e d & e B, ot wRem g 81 fou e fadwedt ¥ @ a8 el e ghu o SHwH B |

400, -200, 100, ?, 25, -12.5

Options:
1) -50

2) 50
3)75

4) -75
Correct Answer: -50
Candidate Answer: -50

QID : 10 - Bhavin's birthday is on Monday 291 May. On what day of the week will be Rachit's Birthday in the same year if Rachit was born on 17" November?

I3 o7 A WHaR 29 7 Y B1 4 IRIT BT 57 17 FdaR Bl g3 AT Y S o Iy 1 sAfe geare § b a1 gvme
Options:

1) Saturday

RIECIN

2) Wednesday
gYIR

3) Sunday
AR

4) Friday
Correct Answer: Friday
Candidate Answer: Friday

ehdR

QID : 11 - The weights of 4 boxes are 30, 70, 60 and 90 kilograms. Which of the following cannot be the total weight, in kilograms, of any combination of these
boxes and in a combination a box can be used only once?

TR T BT goH 30, 70, 60 3R 90 e 1 Fafiied & & o & et ot JheH A ot aor, fpeium & 1 91 7€ 81 Il € IR T Gaior § U Sl U
2 IR TN § o S Gebell 82

Options:
1) 250
2) 200
3) 190
4) 220

Correct Answer: 200
Candidate Answer: 200

QID : 12 - From the given words, select the word which cannot be formed using the letters of the given word.
MYSTIQUE
Fafifed faswed! o 9 98 Wsa IHT o AU 7T Teg & &R &1 TN HRb Tal ST o Gohel:

MYSTIQUE

Options:
1) EMITS

2) TEAMS
3) SUITE

4) QUIET
Correct Answer: TEAMS
Candidate Answer: TEAMS

QID : 13 - If IMPLORE is coded as GKNJMPC, then how will HUB be coded as?

Tfe IMPLORE &1 fdfl ®18 § GKNIMPC foral Il €, df HUB &1 I8t wis & o forar sm?
Options:

1) AWN

2) WAO

3)FSz

4) TEY

Correct Answer: FSZ



Candidate Answer: FSZ

QID : 14 - In a certain code language, '+' represents X', "' represents '+', 'x' represents '+' and '+' represents '-'. What is the answer to the following question?
72x9-14+2="?

et IS U H, '+ T Hddd X' §, - B Aded '+' €, 'X' BT Hads '+' § 3R '+ &1 Adas - g1 e uy &1 S g?

72x9-14+2="?

Options:

1) 20

2) 86

3) 30

4) 36
Correct Answer: 36
Candidate Answer: 36

QID: 15 - If 52 % 32 = 40, 22 % 20 = 4 then what is the value of 15 % 11 = ?
Tfe 52 % 32 = 40, 22 % 20 = 4 T 15 % 11 = ? BT AH F1d B

Options:

1) 39

2)11

3)39

4)8

Correct Answer: 8

Candidate Answer: [ NOT ANSWERED ]

QID: 16 -

Select the missing number from
the given responses

few a1v fawedt 7 & oca
TCT giAv|

216| 16 | 49
314]| 7
6| 2|7

Options:
1) 42

2) 56
3)2

4)5
Correct Answer: 2
Candidate Answer: 2

QID : 17 - A woman in a shopping complex walks 250 m East, then she turns North and walks 100 m, then she turns West and walks 120 m, then she turns to her
left and walks 100 m. Where is she now with reference to her starting position?

It e B U Afgan 250 Hiex gd @1 3R Tah 7, R 95 I @1 Sk 43 9t 7 3R 100 Hiex % dad 8, fhR a8 uftm &1 $iR g St 8 $iR 120 Hiex a&
et 8, fohR 98 oot a1 3R g oIrelt § 31R 100 Hier 9 gadt 81 98 - R fRUfa § 3@ Fgi §2



Options:

1) 130 m East

130 Hex yd

2) 130 m West

130 HieR ufgm

3) 370 m East

370 fex gd

4) 370 m West

370 Hiex ufm

Correct Answer: 130 m East
130 Hex yd

Candidate Answer: 130 m East

130 Hiex gd

QID : 18 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All drinks are food.
Statement 2 : No eatables are drinks.

Conclusion I : Some food are eatables.
Conclusion II : Some eatables are food.

Uy H ) Hy oA T R am € e 1 iR 11 FiepTal 1 €1 3MTeh! AT © 6 S U g § I8 9% WG I et § s wefia g1 € eimuest vl v
? Y 3 7 sl & @ BH-g/319-3 i T § Sy gR1 98! FebTa S IobdT 8/9%q €, I IS gl

HYF 1 : it T HioH B
FUT 2 : 1S ) wrer-ue g g B

e 1 : 59 v wE-Ted §)
e 11 : oo Tre-uer Wi B
Options:
1) Only conclusion I follows

I
2) Only conclusion II follows

Faa sy 11 TE €
3) Both I and II follow
N e 18R 11 T8 &

4) Neither I nor II follows

1 ar e 1 9Et & 1 & e 1

Correct Answer: Neither I nor II follows

1 a e 1 9Et & 1 & e 1

Candidate Answer: Neither I nor II follows

1 d e 1 9t ® 1 8 fsee 11

QID:19-

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fFrfafEa 3cR ngfa & & i @ ga
fow arT weaT Il & A g wT A
=TT SAGH ST Fehcl?

[]

LD

O




Options:
1

2)

.. -‘Q‘
3)

= 1

-

. ..ﬁ‘

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID: 20 -

In the following figure, square represents Dentists, triangle represents
Collectors, circle represents Indians and rectangle represents Women.
Which set of letters represents Indians who are either collectors or

women?

afaﬁaﬂa?{

Options:
1) AB,C
2) D,B,E
3)CGH
4) EF1I

Correct Answer: A,B,C
Candidate Answer: A,B,C

e ®, 7 ga Rfews! of axiar 8, Bys soded &
mﬁm%mmmﬁaﬁm@
1 g YRG! 1 <=1 ¢ ol 41l Seigex g AT Afgen

E

H Cla] D
B, F

T



QID:21-
Which answer figure will complete
the pattern in the question figure?
fFfef@a & & Fia-@ 3eaw anpfa weT
IHAT & FfawT F QU FEM?

Options:

NPT T

Correct Answer:

/

Candidate Answer:

/




QID:22-

From the given answer figures, select the
one in which the question figure is
hidden/embedded.

&1 % oo At F {3 G w e
S ge sl AR #

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:




QID: 23 -

A piece of paper is folded and punched as shown below
in the question figures. From the given answer figures,
indicate how it will appear when opened.

9o HIHfa # fGWT HaR FereT &
AlZH 30A O A I @ F 96 98
e 3o Imfa St e &am?

Options:

1)
O
OOO

2

L)
LD

3)

52
&

& O
o O

Correct Answer:

O
OOO

Candidate Answer:

O
OOO




QID:24-

If a mirror is placed on the line MN, then
which of the answer figures is the right image
of the given figure?

TfE U= g4or F: MN @ 9T &N S0 ar & 7
Seal FEpTAT 7§ @i i e R
1 wgr afafere gefr?

M—— N

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:




QID: 25-

A word is represented by only one set of numbers as given
in any one of the alternatives. The sets of numbers given
in the alternatives are represented by two classes of
alphabets as shown in the given two matrices. The
columns and rows of Matrix-I are numbered from 0 to 4
and that of Matrix-II are numbered from 5 to 9. A letter
from these matrices can be represented first by its row
and next by its column, for example 'K' can be represented
by 13, 34 etc and 'Z' can be represented by 85, 79 etc.
Similarly, you have to identify the set for the word 'PLOT".

TF e A U FEAL-HAE @ auir g, S e
# @ B vw & R @1 Reedt § R o dem-ag wewd
& o @it gan gxiv T § S fr av @ smeggt # B
ege-| & TR AR ofFT FowEa 0 F 4 R gl H
5% 9 ¥l 37 g A UF N A gge I 9 i e
# TOFH GE Z@NT g & G § 3EERT F v K &
13, 34 wfe SR @efm o @l € @ 'Z' ® 85, 79 g
ZAN AR T OFEA §l T AE W WE WA 7 R e
‘PLOT & To0 Wg &I qgdiern £

Matrix | Matrix Il

AT - | HEE -l
.0 1 2 3 4 5 6 7 8 1]
o|li]es|1]|aA s|lolujo|r|u
1lale|FlK|L 6| P|X|Uu|Nn]|Y
2 ule|FrlG6]c 7| wlw|n|r|z
ali|alm|alk s|z|(n|T|s]|¥
a|J|Flc|[B|Mm g {u|w|u|ulx

Options:

1) 58,14,57,87
2) 44,04,76,86
3) 03,23,86,69

4) 23,04,99,99
Correct Answer: 58,14,57,87
Candidate Answer: 58,14,57,87

QID : 26 - The demand for a normal good increases with in the consumer's income.
et wmF eg @Y T F 9fE, Iuiiaar Bt e & F Ty B R

Options:

1) increase

2) decrease
3) constant

4) double

Correct Answer: increase

Candidate Answer: decrease

QID : 27 - Short run marginal cost curve cuts the average variable cost curve from at the minimum point of average variable cost.

ST HHid AT b, Sid IRad amTd I Bl  3frra uikad arTa & gAaH fig R Brear 31
Options:

1) top

IR

2) below

EE]

3) right

4) left



Correct Answer: below

Candidate Answer: [ NOT ANSWERED ]

QID : 28 - "Forests" is listed in the list given in the Seventh Schedule in the Constitution of India.

"SR HRe & AU P radt g § g A wEies 2
Options:

1) Union

Fd

2) State

g

3) Global

fay

4) Concurrent

Correct Answer: Concurrent
Candidate Answer: [ NOT ANSWERED ]

QID : 29 - Which Fundamental Right in the Indian Constitution states that all persons shall be equally protected by the laws of the country?

YR T & g it iR & w1 a1 § &t 3uft A Bl I BT B SRISR GREM UG HIM?
Options:
1) Right to Equality
HHECT HT
2) Right to Freedom
WaAd $T ABR
3) Right against Exploitation
N & favg SftaR
4) Right to Freedom of Religion
A BT
Correct Answer: Right to Equality
AT BT SHIDPR
Candidate Answer: [ NOT ANSWERED ]

QID: 30 - was imprisoned for the rest of his life by Aurangzeb.

P ITP AV et & g siemeie 7 g o
Options:
1) Akbar
ShaR
2) Shah Jahan
AT S8l
3) Jahangir
TR

4) Babur

R

Correct Answer: Shah Jahan
g W6l

Candidate Answer: Shah Jahan
RUACH]

QID : 31 - Name the Commission that came to India in 1928 to reform India's constitutional system.

1928 ® YRA H 3 I HHIA BT AT T ORADT ST URA BT FaLHP Tt H JUR BT AT
Options:

1) Rowlatt Act

Jde Tae

2) Pitt's India Act

frg <fean uae

3) Partition of Bengal

S fqueH

4) Simon Commission

A

Correct Answer: Simon Commission
T HHRH

Candidate Answer: [ NOT ANSWERED ]

QID: 32- is an example of intrusive igneous rock.

_ 3janidl e o Bl IEER 7



Options:
1_) Conglomerate

2) Shale
qd
3) Sandstone

3T IR
4) Granite

Correct Answer: Granite

Candidate Answer: Granite

QID : 33 - The longitudinal valley lying between lesser Himalaya and the are known as Duns.

o fearaa ok ____ % g o fyd eaad a1ét &l g & A1 | ST S g1

Options:
1) Himadri

2) Himachal

3) Shiwaliks

Rrarfers

4) Tibet

fasad

Correct Answer: Shiwaliks

Candidate Answer: [ NOT ANSWERED ]

QID : 34 - A multicellular organism grows by

WIRGM_ gRIFI AR
Options:

1) Cell addition

PIRIeT Sifdemar

2) Cell explosion

3) Cell implosion
STATDIT

4) Cell division

DIRBT AU

Correct Answer: Cell division
fqure

Candidate Answer: [ NOT ANSWERED ]

QID : 35 - The male sex organs in a flower is the
g # R a3 gl

Options:

1) Zoospores

2) stamen

3) pistil

ESIGaN

4) Chlorophyceae

FIRIGTSH

Correct Answer: stamen

(;andidate Answer: stamen

QID : 36 - In animals like Annelids, Molluscs, organs have associated to form functional systems, each system concerned with a specific physiological function. This
pattern is called system level of organization.

gﬂﬁﬁﬁ@f YAfTS, TieRe, & o7 PR 49 & =0 § IRRS B a4 & | TS o U AT 1 BRal &1 39 a8 B Tl F TR BT Y6 HGT oIl
[




Options:

1) organ
) =

2) open

3) closed

I

4) coelom

ERG

Correct Answer: organ
3T

Candidate Answer: [ NOT ANSWERED ]

QID : 37 - Contact force is another name for

Jud o Bl 9 +ft P51 I 3
Options:

1) Friction

ooy

2) Magnetic force
CI

3) Electrostatic force
RR Igga sa
4) Muscular force

CN)
Correct Answer: Muscular force
Uefig §a

Candidate Answer: [ NOT ANSWERED ]

QID : 38 - The force of friction between two surfaces will increase if:

3 wdE! & st o el T g S § A
Options:
1) a layer of lubricant is kept between the two surfaces
31 gl o ol Ve P IR TS SIY
2) the two surfaces are pressed harder
F ggf EEIRIREIY
3) air gap is created between the two surfaces
f & T gaT BT SIRTA X@M oY
4) irregularities on both the surfaces are removed
f St 1 gel fear sy
Correct Answer: the two surfaces are pressed harder
f ggf CEIRIRE I
Candidate Answer: the two surfaces are pressed harder
 ggf I S

QID : 39 - An absolute contains the complete address of a file on the Internet.

VsHiege T gexAe R WIZA BT Tl Ual g 2
Options:
1) JavaScript

2) URL

3RS

3) SQL

TR

4) String

fegm

Correct Answer: URL
RIS

Ca}ndidate Answer: String

QID : 40 - A change in which no new substances are formed is called

g uRad- o #1E 7ar yerdf 78 sar e gl
Options:

1) Physical Change

ifde aRad

2) Chemical Change
I gRadT

3) Rusting

ST AT

4) Galvanisation

TG A (Tea-TgoRH)



Correct Answer: Physical Change

Candidate Answer: Galvanisation

TG AT (TeaTgoITH)

QID : 41 - The property of metal by which it can be drawn into wires is called

YTgai o1 a8 77 T 3% Wi art & uRafdd fsar s aear 8, wgamar gl
Options:

1) maleability

SfTaTqasar

2) viscosity

RUIEKI)

3) ductility

GRIGIE

4) tensile strength
GERESIEL|

Correct Answer: ductility
GRIGIE

Candidate Answer: ductility
a-adr

QID: 42 - is the number of deaths in the population during a given period.

Tg < Tt 3rafdy gy H 1 aral it Bt WRew B
Options:
1) Natality
WHR
2) Mortality
HgR
3) Immigration
SIECINE]
4) Emigration
CLEISE]
Correct Answer: Mortality

g
Candidate Answer: Mortality

AR

QID: 43 - scheme by the Central Government aims at setting up an organized rural Panchayat in order to make the villages more self-sustained.

FE WER GRIYE IR IS &7 I8 TMa) B 34 stk §9 & forw ue Smfed wmhor tamd &) o1 &3A1 81

Options:

1) Gram Uday Se Bharat Uday Abhiyan

M 3T § YR 384 SHgH

2) Pradhan Mantri Ujjwala Yojana

YFHR Iwadr GreT

3) Pradhan Mantri Surakshit Matritva Yojana

YT QRI&T AIge o
4) Vidyanjali Yojana
[EEISINRIEE]

Correct Answer: Gram Uday Se Bharat Uday Abhiyan
I I&T ¥ WRA Iad e
Candidate Answer: [ NOT ANSWERED ]

QID : 44 - Who discovered Circulatory System?

TR JoTTelt B el foe BT e
Options:

1) Thomas Edison

R AR

2) William Harvey

fafermm 1d

3) Robert Hooke

REE

4) Robert Boyles

e g

Correct Answer: William Harvey

Candidate Answer: William Harvey

QID : 45 - Which country did India lose to in the semi finals of the Men's Cricket World Cup 2015?
T 2015 # fbdpe fay Hu (gew) H YR 5w 33 & ivergaa & gRT U1?



Options:
1) Sri Lanka
PINEal

2) New Zealand
3)‘Pakistan
e

4) Australia
Correct Answer: Australia

Candidate Answer: New Zealand

QID : 46 - Buland Darwaza is located in?

A< oA Fal K 72
Options:

1) West Bengal
EIEECUISH

2) Gujarat

3) Uttar Pradesh

JWR T

4) Tamil Nadu

At g

Correct Answer: Uttar Pradesh
JR W™

Candidate Answer: Uttar Pradesh
I U

QID : 47 - Which of the following award is given for distinguished service in any field including service rendered by the Government servants?

WEHRT FHANRT GRT USH F TS a1 Ifgd b +ff & & Ry a1 & fore Foffea & § o9 w1 ReeR o s 22
Options:
1) Ashok Chakra
3N TH
2) Dada Saheb Phalke Awards
3TaT ATEd Wl REBR
3) Arjuna Award
TRIOR
4) Padma Shri
T ot
Correct Answer: Padma Shri
o1 off

Candidate Answer: Padma Shri
T oft

QID : 48 - Which of the statements given below are correct?

1. The author of 'The Great Indian Novel' is A.P.J. Abdul Kalam.
2. The author of 'A Foreign Policy For India' is I.K Gujral.
3. 'Wings of Fire' is an Autobiography of A.P.J. Abdul Kalam.

Fra R T o A P e

1. g e 577 AT F aus LRI, sfesgd Had g
2.3 BRA UifeRl BR IfEar & d@ed 31E.%. TR 8
3. o 3ifth BrR T, . 3fegd HAH BT ATHBUT B |

Options:

1) 1land 2
13k 2
2)2and 3
28R 3
3)1land3
13R3
4)1,2and 3
1,23k 3
Correct Answer: 2 and 3
28R 3

Candidate Answer: 2 and 3
23R 3



QID : 49 - In April 2017, diplomatic ties were re-established after 37 years between Cuba and

30 2017 H, Fg&T 3R % g 37 avf & q1g Hefaw deek o g wifda i mar g1
Options:

1) India

HRd

2) Morocco

3) Sri Lanka

sfictaT

4) USA
JuEe

Correct Answer: Morocco
Candidate Answer: [ NOT ANSWERED ]

QID : 50 - Nepal shares a border with which other country besides India?

AU YR & AT 5T 3 T F 1Y U= AT T Bl 82
Options:

1) China

Eicl

2) Bhutan

3_) Bangladesh

EIRIe)

4) Afghanistan
ST

Correct Answer: China

Candidate Answer: China

QID : 51 - What least number must be added to 213, so that the sum is completely divisible by 9?

g A TR BT B, o 213 H SIS TH TR W AT 9 F T TRe i &) smame
Options:
1)3

2)2
3)1

4) 4
Correct Answer: 3
Candidate Answer: 3

QID : 52 - A can do a work in 12 days and B in 24 days. If they work on it together for 4 days, then what fraction of work is left?

A 12 e o 3R B 24 3 & Usp & oR Gdhd 51 T T 4 o F o v Ay iR & o= §, dl B &1 fba oi% STt I8 SIR?

Options:
1)1/3

2)1/2
3) 1/4

4) 1/5
Correct Answer: 1/2
Candidate Answer: 1/2

QID : 53 - What is the area (in sq cm) of an equilateral triangle of side 6 cm?

6 I 4 YT a7 U THeTg B0 B Amvea (i o4 ) 7 geme
Options:
1) 363

2)9
3) 36

4)9v3
Correct Answer: 9v3
Candidate Answer: 9v3



QID : 54 - What is the effective discount on two successive discounts of 20% and 25%?

20% 3R 25% % TR & Fel W UHIdt ge &1 grf

Options:
1) 45%

2) 40%
3) 50%

4) 60%
Correct Answer: 40%
Candidate Answer: 40%

QID : 55 - Profit of Rs 12,400 has to be divided between three partners A, B and C in the ratio 5:7:8. How much does B get (in Rs)?

12,400 T & TH PI 5: 7: 8 B U H A, B 3R C & o v fvan o 81 B 1 b = fardie
Options:

1) 4340

2) 3440

3) 3340

4) 4430

Correct Answer: 4340
Candidate Answer: 4340

QID : 56 - The average weight of P, Q and R is 47 kg. If the average weight of P and Q be 32.5 kg and that of Q and R be 48.5 kg, then what is the weight of Q (in
kgs)?

P, Q 3R R &7 31d aoi 47 f. 7.8 1 I P 3R Q BT 3id g 32.5 foh. 1. 3iR Q 3R R &7 3fd Ior 48.5 fb. 7.8, & Q &7 awH ([b.m. o) wm g2
Options:

1) 25

2)21

3)29

4)33

Correct Answer: 21

Candidate Answer: 21

QID : 57 - A shopkeeper by selling 5 items, earns a profit equal to the selling price of 1 item. What is his profit percentage?

T GHIMAR 5 T%] S9PY 1 %] b (9o Yo P SRIaR 1Y AT &1 ST 1Y TiI<Id &1 82
Options:

1) 20%

2) 25%

3) 16%

4) 22.5%
Correct Answer: 25%
Candidate Answer: 20%

QID : 58 - What is the value of 20% of 500% of 50?

50 % 500% T 20% T A T 82
Options:

1) 0.5

2) 5000

3) 500

4) 50

Correct Answer: 50

Candidate Answer: 50

QID : 59 - To cover a distance of 90 km in 2.5 hours what should be the average speed of the car in meters/second?

90 freft @1 g 1 2.5 6 T 79 B & o ex/Adrs B SR 3T i T 31 g =ee?
Options:
1)10

2) 20
3) 30

4) 40
Correct Answer: 10
Candidate Answer: 10



QID : 60 - If in 3 years at simple interest the principal increases by 18%, what will be the compound interest (in Rs) earned on Rs. 25,000 in 3 years at the same
rate?
g 3 Iuf & WYR TS TR TALA 18% F ¢ o1l 7, a1 AT & W 3 Id H 25,000 T W il Tl a1 (3 F) a1 grme

Options:
1) 4775.4
2) 5774.4
3) 4557.4
4) 5575.4

Correct Answer: 4775.4
Candidate Answer: [ NOT ANSWERED ]

QID : 61 - If 5x + 6(3-2x) = 4, then what is the value of x?

TFE 5x + 6 (3-2x) = 4, Al x BT HH R 8?2
Options:
1)1

2)3
3)2

4) 4
Correct Answer: 2
Candidate Answer: 2

QID:62-Ifa+b=1andab = -6, then what is the value of a’ +b*?

gfda+b=13Rab=-6 da’+ b’ BT FT?
Options:
1) 17

2) 15
3)19

4) 13
Correct Answer: 19
Candidate Answer: 19

QID : 63 - The sum of a non-zero number and twenty times its reciprocal is 9. What is the number?

T IR W1 3R TS HHARUI & 19 1 &7 41T 9 31 ol I8 T T 22
Options:
1)-5

2)3
3)-3
4)5

Correct Answer: 5
Candidate Answer: 5

QID : 64 - If the 3™ and the 5" term of an arithmetic progression are 13 and 21, what is the 13" term?

I T ST Tl 7 T 3TR Uigral Ug 13 31K 21 §, Y 13 91 ug &1 32
Options:

1) 53

2)49

3)57

4) 61

Correct Answer: 53

Candidate Answer: 53

QID : 65 - What is the reflection of the point (3,-5) in the origin?
o # g (3, -5) &1 ufafSs @ 82

Options:

1) (-3,-5)

2) (5-3)

3) (-5,-3)

4) (-3, 5)



Correct Answer: (-3, 5)
Candidate Answer: (-3, 5)

QID : 66 - Point P is the midpoint of segment AB. Co-ordinates of P are (5, -1) and A are (2, -4). What are the co-ordinates of point B?
faig P Y@Tds AB @1 Tem fiig B1 P & eI (5, -1) 3R A & s (2, -4) §1 fig B & i 7n 32

Options:

1) (6, 4)

2)(8,2)

3)(1,-2)

4) (-6, -2)

Correct Answer: (8, 2)
Candidate Answer: (8, 2)

QID : 67 - What is the slope of the line perpendicular to the line passing through the points (-2, 3) and (2, 0)?

(-2,3) 3R (2,0) fSigsff & g I ToRA el YT R T g YT BT FobTd T 32
Options:
1)4/3

2) 3/4
3) -3/4

4) -4/3
Correct Answer: 4/3
Candidate Answer: 4/3

QID : 68 - AABC is similar to APQR. If ratio of perimeters of AABC and APQR is 1:2 and if PQ = 10 cm then what is the length of AB (in cm)?

AABC T APQR & T g, TS AABC 3TR APQR % TRFET &1 3UTd 1: 2 § 3R Ifg PQ = 10 ¥.1 §, a1 AB &t @iarg (I.1f. &) | &2
Options:

1)5

2)20

3)25

4)15

Correct Answer: 5

Candidate Answer: 5

QID : 69 - What is the value of Sin 30° + Cos 30°?

Sin 30° + Cos 30° &1 | &1 §?
Options:

1) (V6 + 1)/V3

2) (V3 + 2)/V3

3) (1 + V3)/2

4) 5/V3

Correct Answer: (1 + V3)/2
Candidate Answer: (1 + V3)/2

QID : 70 - A ABC is right angled at B. If mzA = 30°., then Sec C =?

A ABC & B TR THSIUT 81 3TR m2A = 30° &, Y Sec C =?
Options:

1) 1/2

2) 1/V2

3)2

4) 1/V3

Correct Answer: 2

Candidate Answer: 2

QID : 71 - If Sin 8 = 12/13, then what is the value of Cot 6?

TfE Sin 6 = 12/13, A Cot 6 HT AF T 82
Options:

1) 13/12

2) 5/13

3) 5/12

4) 13/5

Correct Answer: 5/12

Candidate Answer: 5/12



QID:72-
The bar graph shows the population density of & countries.

Study the diagram and answer the following questions.

UG 9 TREITE 6 SN @I SfaIG! O-d ) GRial o1 §9 S &1

SHERH ©Y AR Ffifad v & Sae €l
600
‘E‘Esou-sm
Eg 400
i |
0
a 200
ﬁEm 150 150
d-f i
i I
52 A B ¢ ] E F

Country / 3%

What is the ratio of the population densities of country C to country D?

I C I A D I AL I P SHJUTT T 52
Options:

1)3:4

2)4:3

3)5:4

4)4:5

Correct Answer: 3 : 4

Candidate Answer: 3 : 4

QID:73-

The bar graph shows the population density of 6 countries.
Study the diagram and answer the following questions.

g 91 ThEIeE 6 SN $i SEIG! 9id & a=ial ol 39 HRE &1

HEEA T AR FrefiET = B SR Tl
600
‘E.Esou-m
Eg 400
i |
yr
a 200
ﬁEm 150 150
d-f el
it | B
5,3_ A B c ] E F
Country / 300

What is the difference in the average number of people living per 1,000 sq km in countries E and F?

E 3R F =it # ufdy 1,000 of b7t & 357 aret <t &Y o T & 3iaR e 82
Options:

1) 250

2) 4000

3) 400

4) 2500

Correct Answer: 2500

Candidate Answer: 2500



QID: 74 -
The bar graph shows the population density of & countries.
Study the diagram and answer the following questions.

UG 9 TREITE 6 SN @I SfaIG! O-d ) GRial o1 §9 S &1

SHERH ©Y AR Ffifad v & Sae €l
600
E-EW 500
g 400
i |
0
a 200
ﬁEm 150 150
d-0-01111
;. M=
z = A B C 1] E F

Country / 3%

Population density of country E is greater than population density of country D by:

M E B ST O ST D SFIReAT T I fabat e 82
Options:

1) 50%

2) 100%

3) 200%

4) 300%

Correct Answer: 100%

Candidate Answer: 100%

QID:75-

The bar graph shows the population density of 6 countries.
Study the diagram and answer the following questions.

g 91 ThEIeE 6 SN $i SEIG! 9id & a=ial ol 39 HRE &1

HEEA T AR FrefiET = B SR Tl
600
‘E_Em 500
Eg ]
i |
yr
a 200
ﬁEm 150 150
201111
HE
£ 2 A B c o E F

Country / 300

If area of country B is 20,00,000 sq km, what is its population?

Tfe T B BT &% 20,00,000 Tif 6.4, B, o sHH SERe fberit 82
Options:

1) 10000000

2) 2500000

3) 25000000

4) 1000000

Correct Answer: 1000000
Candidate Answer: 1000000

QID : 76 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

The phone that (1)/my father bought is different (2)/than your.(3)/No Error (4)
Options:

1)1

2)2

3)3

4) 4



Correct Answer: 3
Candidate Answer: 3

QID : 77 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

As soon as (1)/I reach my office (2)/I will mail you the files.(3)/No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 4

Candidate Answer: 2

QID : 78 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Because she had a demeanour, she was a desirable friend.
Options:

1) pleasant

2) severe

3) mean

4) nasty

Correct Answer: pleasant

Candidate Answer: pleasant

QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

If your child has not met the vaccination requirements, he or she will not be allowed to attend public school.
Options:

1) optional

2) referral

3) compulsory

4) guideline

Correct Answer: compulsory

Candidate Answer: compulsory

QID : 80 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Stymie

Options:

1) Explicate

2) Abet

3) Impede

4) Aid

Correct Answer: Impede

Candidate Answer: [ NOT ANSWERED ]

QID : 81 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Suffix
Options:
1) Addition
2) Basic
3) Root

4) Focal

Correct Answer: Addition
Candidate Answer: Addition

QID : 82 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Sultry

Options:

1) Frigid

2) Muggy

3) Sticky

4) Soggy

Correct Answer: Frigid

Candidate Answer: Frigid

QID : 83 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Supple



Options:

1) Flexible

2) Brittle

3) Pliable

4) Bending

Correct Answer: Brittle
Candidate Answer: Pliable

QID : 84 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Barking up the wrong tree

Options:

1) Scolding the one who is innocent.

2) Expecting a favour from a heartless person.
3) Looking in the wrong place.

4) Requesting but in an arrogant manner.

Correct Answer: Looking in the wrong place.
Candidate Answer: [ NOT ANSWERED ]

QID : 85 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Call it a day

Options:

1) To start a job wishing for success.

2) To take a break or a holiday.

3) Assign different days to different tasks.
4) To declare the end of a task.

Correct Answer: To declare the end of a task.
Candidate Answer: To declare the end of a task.

QID : 86 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Would you mind (to carrying) this bag for me.
Options:

1) to carry

2) carrying

3) carry

4) no improvement

Correct Answer: carrying

Candidate Answer: carrying

QID : 87 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

The child (would have jumped) with delight on seeing the joker at the circus.
Options:

1) jumping

2) jumped

3) to jump

4) no improvement

Correct Answer: jumped

Candidate Answer: jumped

QID : 88 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

The quality or state of being exposed to the possibility of being attacked or harmed
Options:

1) Vigour

2) Vulnerability

3) Fortitude

4) Clout

Correct Answer: Vulnerability
Candidate Answer: Vulnerability

QID : 89 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

A solemn promise or undertaking
Options:

1) Pledge

2) Deceit

3) Myth

4) Perjury

Correct Answer: Pledge
Candidate Answer: Pledge



QID : 90 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) consenssus

2) concensus

3) concenssus

4) consensus

Correct Answer: consensus

Candidate Answer: concensus

QID : 91 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.
Options:

1) presedents

2) pricedents

3) precedents

4) prisedents

Correct Answer: precedents
Candidate Answer: precedents

QID : 92 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

They had been thrown

X-upon their own exertions at an

Y-battle to fight with poverty and ignorance
Z-early age, and had a hard

Options:

1) XzY

2) YXZ

3) ZYX

4) XYZ

Correct Answer: XZY

Candidate Answer: XZY

QID : 93 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

The unstated assumption is
X-conceding spatial autonomy
Y-that the grant of a different time
Z-zone is only the first temporal step towards
Options:

1) ZXY

2) XzY

3) Yxz

4) YZX

Correct Answer: YZX
Candidate Answer: YZX

QID : 94 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

My friends are going to watch a movie tonight.

Options:

1) A movie is going to be watched by my friends tonight.

2) My friends will have watch a movie by tonight.

3) A movie was going to be watched by my friends tonight.

4) My friends will have to watch a movie by tonight.

Correct Answer: A movie is going to be watched by my friends tonight.
Candidate Answer: A movie is going to be watched by my friends tonight.

QID : 95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

"What time does the flight arrive?" she asked the receptionist.

Options:

1) She asked the receptionist what time the flight arrived.

2) She asked the receptionist what time the flight arrive.

3) She asked the receptionist when does the flight arrive.

4) She asked the receptionist what was going to be the time for the flights arrival.
Correct Answer: She asked the receptionist what time the flight arrived.
Candidate Answer: She asked the receptionist what time the flight arrived.



QID : 96 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Due to poor rainfall over the past few months, the vadu mangai season is expected to be short this year. There are two distinct varieties available
in the vicinity of Coimbatore. The closest to Coimbatore, and the one that appears in the markets first, is the Thadagam variety. The second and
more popular variety is the one from the Thirumoorthy Hills, near Udumalpet. Representatives from commercial pickle brands whisk these
mangais away in big lots directly from the wholesalers. Only a small portion of the year's harvest trickles down to the local markets.

Small vendors bring sacks full of these tiny tender mangoes to one particular street corner in Ram Nagar during the season. The corner of Rajaji
Road and Sathyamurthy Road plays host to these vendors from as early as 7.00 am every day. Depending on the quantity they have, the mangais
are available until around 11.00 am. If the vendors have a good day and their produce is sold quickly, they pack up and leave even as early as
9.00 am.

What do you think 'Thadagam' is from the passage?
Options:

1) A Festival celebrated in Coimbatore.

2) A variety of vadu mangai mangoes.

3) A word for 'monsoon’ in the local language.

4) A variety of mango pickle.

Correct Answer: A variety of vadu mangai mangoes.
Candidate Answer: A variety of vadu mangai mangoes.

QID : 97 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Due to poor rainfall over the past few months, the vadu mangai season is expected to be short this year. There are two distinct varieties available
in the vicinity of Coimbatore. The closest to Coimbatore, and the one that appears in the markets first, is the Thadagam variety. The second and
more popular variety is the one from the Thirumoorthy Hills, near Udumalpet. Representatives from commercial pickle brands whisk these
mangais away in big lots directly from the wholesalers. Only a small portion of the year's harvest trickles down to the local markets.

Small vendors bring sacks full of these tiny tender mangoes to one particular street corner in Ram Nagar during the season. The corner of Rajaji
Road and Sathyamurthy Road plays host to these vendors from as early as 7.00 am every day. Depending on the quantity they have, the mangais
are available until around 11.00 am. If the vendors have a good day and their produce is sold quickly, they pack up and leave even as early as
9.00 am.

Why do local markets get only a small portion of the mango produce?
Options:

1) Commercial pickle companies buy the mangoes in huge quantities.
2) The mangoes get sold as quickly as 9.00 am.

3) There are only three vendors in the local market.

4) The sellers of the local market are just small vendors.

Correct Answer: Commercial pickle companies buy the mangoes in huge quantities.
Candidate Answer: Commercial pickle companies buy the mangoes in huge quantities.

QID : 98 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Due to poor rainfall over the past few months, the vadu mangai season is expected to be short this year. There are two distinct varieties available
in the vicinity of Coimbatore. The closest to Coimbatore, and the one that appears in the markets first, is the Thadagam variety. The second and
more popular variety is the one from the Thirumoorthy Hills, near Udumalpet. Representatives from commercial pickle brands whisk these
mangais away in big lots directly from the wholesalers. Only a small portion of the year's harvest trickles down to the local markets.

Small vendors bring sacks full of these tiny tender mangoes to one particular street corner in Ram Nagar during the season. The corner of Rajaji
Road and Sathyamurthy Road plays host to these vendors from as early as 7.00 am every day. Depending on the quantity they have, the mangais
are available until around 11.00 am. If the vendors have a good day and their produce is sold quickly, they pack up and leave even as early as
9.00 am.

What may happen if there is adequate rainfall?

Options:

1) Local vendors will get fewer mangoes.

2) The vadu mangai season will be longer that year.

3) Commercial pickle companies will buy in smaller quantities.
4) Vendors will be able to sell quickly.

Correct Answer: The vadu mangai season will be longer that year.
Candidate Answer: The vadu mangai season will be longer that year.

QID : 99 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Due to poor rainfall over the past few months, the vadu mangai season is expected to be short this year. There are two distinct varieties available
in the vicinity of Coimbatore. The closest to Coimbatore, and the one that appears in the markets first, is the Thadagam variety. The second and
more popular variety is the one from the Thirumoorthy Hills, near Udumalpet. Representatives from commercial pickle brands whisk these
mangais away in big lots directly from the wholesalers. Only a small portion of the year's harvest trickles down to the local markets.

Small vendors bring sacks full of these tiny tender mangoes to one particular street corner in Ram Nagar during the season. The corner of Rajaji
Road and Sathyamurthy Road plays host to these vendors from as early as 7.00 am every day. Depending on the quantity they have, the mangais
are available until around 11.00 am. If the vendors have a good day and their produce is sold quickly, they pack up and leave even as early as
9.00 am.

The more popular vadu mangai mangoes are from:



Options:

1) Udumalpet

2) Coimbatore

3) Thirumoorthy Hills

4) Ram Nagar

Correct Answer: Thirumoorthy Hills

Candidate Answer: Thirumoorthy Hills

QID : 100 - A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives.

Due to poor rainfall over the past few months, the vadu mangai season is expected to be short this year. There are two distinct varieties available
in the vicinity of Coimbatore. The closest to Coimbatore, and the one that appears in the markets first, is the Thadagam variety. The second and
more popular variety is the one from the Thirumoorthy Hills, near Udumalpet. Representatives from commercial pickle brands whisk these
mangais away in big lots directly from the wholesalers. Only a small portion of the year's harvest trickles down to the local markets.

Small vendors bring sacks full of these tiny tender mangoes to one particular street corner in Ram Nagar during the season. The corner of Rajaji
Road and Sathyamurthy Road plays host to these vendors from as early as 7.00 am every day. Depending on the quantity they have, the mangais
are available until around 11.00 am. If the vendors have a good day and their produce is sold quickly, they pack up and leave even as early as
9.00 am.

Which of the following best describes the vadu mangai mangoes?
Options:

1) Big and juicy

2) Orange but raw

3) Tiny and tender

4) Sour and sweet

Correct Answer: Tiny and tender

Candidate Answer: Big and juicy



